
Subtracting Senary Numbers (J)

Calculate each difference.

32536
− 10006

112416
− 54256

154516
− 55456

130416
− 51016

142436
− 45426

50156
− 21226

120046
− 55326

32326
− 21356

31446
− 11036

104446
− 14546

55116
− 30316

121426
− 51546

113506
− 31236

112206
− 31406

125006
− 44216

114446
− 53436

105506
− 12056

42526
− 13056

113306
− 14006

132426
− 52426
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Subtracting Senary Numbers (J) Answers

Calculate each difference.

32536
− 10006

22536

112416
− 54256

14126

154516
− 55456

55026

130416
− 51016

35406

142436
− 45426

53016

50156
− 21226

24536

120046
− 55326

20326

32326
− 21356

10536

31446
− 11036

20416

104446
− 14546

45506

55116
− 30316

24406

121426
− 51546

25446

113506
− 31236

42236

112206
− 31406

40406

125006
− 44216

40356

114446
− 53436

21016

105506
− 12056

53416

42526
− 13056

25436

113306
− 14006

55306

132426
− 52426

40006
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